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	Part A Questions
	_____1. Which factor would have the greatest effect on the flow of energy into an ecosystem?

     1. a large decrease in the amount of sunlight available

     2. a large increase in the number of carnivores 

     3. a small increase in the number of decomposers 

     4. a small decrease in the amount of minerals available
_____2. In some cases, humans have chosen to mate certain individual farm animals within a species. For example, by allowing only the largest cattle to reproduce over many generations, strains of very large cattle have been produced. This process is known as

     1. natural selection 
     2. direct harvesting 
     3. selective breeding 
     4. dynamic equilibrium
_____3. The diagram below represents a technique currently used by scientists in the field of biotechnology.
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Which statement describes a possible outcome of this technique?

     1. The bacterium is able to produce a human hormone. 
     2. It allows the bacterium to grow in humans, since it contains a human gene. 
     3. It allows humans to become immune to an infection from this type of bacteria. 
     4. The bacterium can now produce human cells identical to cells of the DNA donor.
_____4.  A large number of sperm cells are produced by males every day. This large number of sperm cells increases the chance that

     1. at least one sperm cell will be reached when the eggs swim toward the sperm cells in the ovary

     2. several sperm cells will unite with an egg so the fertilized egg will develop properly

     3. some of the sperm cells will survive to reach the egg

     4. enough sperm cells will be present to transport the egg from where it is produced to where it develops into a fetus

_____5.  A vaccine used against an infectious disease may contain

     1. specialized blood cells

     2. toxic enzymes

     3. a variety of antibiotics

     4. weakened pathogens



	Part B-1 Questions


	_____6.  A researcher recently discovered a new species of bacteria in the body of a tubeworm living near a hydrothermal vent. He compared the DNA of this new bacterial species to the DNA of four other species of bacteria. The DNA sequences came from the same part of the bacterial chromosome of all four species.

[image: image2.png]Unknown species

Species 1

DNA Sequence
ACT GCA CCC
ACA GCA CCG
ACT GCT GGA

ACA GCA GGG

ACT GCA CCG





According to these data, the unknown bacterial species is most closely related to

     1. species I           3. species III

     2. species II          4. species IV
_____7.  Which model best represents the relationship between a cell, a nucleus, a gene, and a chromosome?
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	Part B-2 Questions
	Base your answers to questions 8 and 9 on the information below and on your knowledge of biology.
“If farm fields in the Piedmont region of North Carolina are abandoned, there is a regular sequence of plant species that will inhabit the field. The data table below shows a typical sequence of dominant plant species.”
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_____8.  This regular sequence of plant species over the 150-year period is known as

     1. degrading of the ecosystem      2. loss of biodiversity

     3. ecological succession               4. biological evolution
9.  If the oak forest is destroyed by fire and no other disturbances occur, which dominant

plant species would most likely be found in the region 70 years after the fire?
 _______________________________________________________________________



	Part C Questions


	Base your answers to questions 10 through 12 on the information below and on your knowledge of biology.

“A park with a small lake is home to a population of ducks. The building of a housing complex eliminates a nearby pond. Soon other ducks and waterbirds like geese and egrets come to live at this small lake.”

10.  State one specific way the new populations of birds may affect the original population of ducks. 
________________________________________________________________________________
________________________________________________________________________________
11.  State one specific way the new populations of birds may change the abiotic factors of the environment in and around the lake. 
________________________________________________________________________________
________________________________________________________________________________
12.Predict one way the new populations of birds may affect the populations of plants that live in and around the lake. 
________________________________________________________________________________
__________________________________________________________________________
13.   Describe the cycling of carbon in an ecosystem. In your answer be sure to:

• identify the inorganic carbon compound that is obtained by plants from the environment 

• identify the process plants use to form complex organic molecules from this carbon compound 

• describe how herbivores use these complex organic molecules 

• identify the process herbivores use to return carbon to the environment 
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________



	Part D Questions


	Base your answers to questions 14 through 16 on the chart below showing mRNA base sequences and the amino acids for which they code.

Universal Genetic Code Chart

Messenger RNA Codons and the Amino Acids for Which They Code
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14.  Which three codons would code for a different amino acid sequence from that coded for by the mRNA base sequence AGU-UCA-CCA?

     1. AGC-UCU-CCU

     2. AGU-UCC-CCG

     3. AGC-UCA-CUU

     4. AGU-UCG-CCC
15.  Fill in an mRNA codon that would code for each amino acid shown.

                       Amino acid: ASP TRP CYS

                   mRNA codon: ____ ____ ____

16.  Identify one of the mRNA codons that would stop the coding process. 

______________________________________




This lesson page was taken from

“Living Environment:  Biology Lecture and Homework Workbook - 100 Daily Assignments That Make A Difference”  
Copyright 2010:  Michael H. Comet,  South Lewis High School, Turin, New York 13473.

Use and copying privileges without modification hereby granted for not-for-profit educational use by certified teachers.


